SUBTRACTING UP TO 1000 WITH CARRYING (V-3)
SOLUTIONS

Name:

Time:

Score:

y—

375) 41112
—1317 8
34

377) 7912
—2129
563

379) 91710
—1217 3
697

381) 565
—4114
151

383) 41510
—1315 5
95

385) 573
-533
40

387) 4911
— 412 6
65

389) 310 7
—1293
14

391) 971
- 18
953

393) 918
~905
13

395) 312 2
-1 61
261

Mathematics: Subtraction - Level 6 - Vertical - Set 3

59

376)

378)

380)

382)

384)

386)

388)

390)

392)

394)

396)

310 8

-1 71

237

211

—1 13

198

9613

— 41 4

549

967

—136

831

8611

— 810 6

55

815 5

—156 2

293

6513

— 4127

226

579

— 464

115

138

- 126

12

31514

—1216 7

87

149

106

© workulum.com


https://www.workulum.com

